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A small present of money given to someone, as a waiter, porter, etc., for performing a service.
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Dominance
Strictly dominates... u(s,w) > u(t, w), 0 d
Weakly dominates...u(s,w) 2 u(t,w), 0 dR , and u(s,w) > u(t, ), DD
Action S isundominated iff it is not weakly dominated.

Never a weak best response

Action S is never a weak best response (NWBR) iff it is not a weak best response to any
qR Q)
O0000qU0O0O000(statesof nature: Q) O D OO OOO0O0O0OO0O0) 000000000
OO0O0O0OO0ObeliefsOOO00O0OOOO0OOOODOO

A wesk best response to beliefs g iff u(s,q)=u(t,q) for all t OS (SO actions)

Lemma. A strictly dominated strategy isa NWBR
sO0000000000000000000 -aNWBR
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0 then u($ q)—§ for any q
¢ w.p 05 2

O Mixed Action §={

Iterative Elimination of Strictly Dominated Strategies

Sun | Rain
Noumbrella| 53 | 0,0
Umbrela 15 |32

On Common Knowledge
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Iterative Elimination of Weakly Dominated Strategies
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OO0NashOOO

s =(s)_isaNash Equilibrium iff y(s,s/)2u(s,s;)00 ML § S

or OO N, s isaBest Response (BR) against s

oo0o0oooooo

O Focal Points OO OO

O Preplay Communication
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00O Security Dilemma

gboobooooooboboooooboobobccboboooobobobon
OOobO0boobob0bO0obuobO0sdfenforcing DO OOOO
OooobooooboomeBUUOODUODODOsdfenforcingd DO DO OODO
gbooooobooon

* 000§ 0§ isi's Dominant Strategy iff u(s,s;)=u(s,s;),00 Nl § Sor

OO0 N, § is a Best Response(BR) against s, ~s =(g )

i0

. is the Dominant Strategy

Equilibrium iff s* is the Dominant Strategy for all i [JN.
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